(0 @) (rad)

a(d cot(d))

il
_______________________ T
: @
| RN & + 35 ------ -1r----5 ------------ B R
-1 2 3 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamliné[f)
—=— DQM_CKF_TTbarPU
—e— DQM_mkKFit_TTbarPU-noDNN3
—— DQM_mkFit_TTbarPU-clonerfix3
= S R N
2 e
> gN ----------------------------
5 S
5/ o 10—1
1072
RS : RS
T : -+ T 2
x F : ©
| e EERRRREPE l i 0 L 1 S PP 6 44 1 YT A
'5-—1 : l l2 3 -1 l2 3
10 ! TPlp?T (PCA t%obeamliné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)
n=
2
—
o
o
o
o 1002
T
o




	Contents
	Page 1


